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1 Vector bases

Consider vectors in two dimensions and the basis
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2 Vector bases

Consider the following vectors in two dimensions

f= = (Z> and _ 2 (_Z)
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a) Determine the inner product of each vector with itself, i.e. (f,f).

b) Determine the inner product (f,g).
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3 Ket algebra

Let -
) == 1]+2) — 2i|#2) and

1, . T
) := 7 (i |+2) + 2i |#2)).

a) Represent each ket as a column vector.

b) Determine whether each ket is normalized.
c¢) Determine (¢|¢).

d) Determine (pit)).

Answer A) I~ (g;‘_) LD ~» <L/\/'5->

<HWY = * 1+ V¥ () =5 no --- -
<¢/¢> - /\/75) <ZV§ (’%’} = ‘g‘—l yes

O LMy = (Jﬁ@>(%%

Note  <4)4y= Culgy ™



